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1. (4 Pts) Complete the following chart, in order from left to right
lon or Atom [Mass Number [Protons [Neutrons [Electrons
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67.6% uranium and 32.4% fluorine . (U 238.0 F 19.0)
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3. (2Pts) Whatis the empirical formula for CHy, 0?7 _Fhis (S empii cal Forrmude.

4 (5 Pts) Chlorine gas reacts with phosphorus to produce phosphorus pentachloride. How many grams of
. PCls are produced from 3.5 g of Cl, and excess P? (P 30.97 Cl 35.45)
5Ch(g) + 2P(s)—> 2PCls(s)
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5 (7 Pts) How many moles of sodium nitrate would be produced from the complete reaction of 3.5 moles of
. lead(Il) nitrate with 4.8 moles of sodium chloride?

2 IZ/IaCI + Pb NO'; )E - 2 I;IaN(l); + PbCIQ
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(N 14.01, H 1.008, S 32.06, O 16.00)

6. (3 Pts) Calculate the molar mass of (NH;4),SO4
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1. (4 Pts) Complete the following chart, in order from left to right
lon or Atom [Mass Number [Protons [Neutrons [Electrons

24Mg2+ l,l‘f ‘l l(/;L ,O
1-127 | (27 53174 | 53

2. (4 Pts) Determine the empirical formula of a compound of uranium and fluorine that is composed of
67.6% uranium and 32.4% fluorine . (U 238.0 F 19.0)
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. (2 Pts) What is the empirical formula for CsH;,0? “H\i& lis em 'rw \ col FDP/W\ uJ g

4 (5Pts) Chlorine gas reacts with phosphorus to produce phosphorus pentachloride. How many grams of
. PCl;s are produced from 9.5 g of Cl, and excess P? (P 30.97 Cl 35.45)

5Chig) + 2P(s)—> 2PCls(s)

91.59 7g
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5 (7 Pts) How many moles of sodium nitrate would be produced from the complete reaction of 3.8 moles of
. lead(Il) nitrate with 4.7 moles of sodium chloride?
2NaCl +Pb(NO;), > 2NaNO;+  PbCl,
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6. (3 Pts) Calculate the molar mass of (NH4),SO; (N 14.01, H 1.008, S 32.06, O 16.00)
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